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SOCIOLOGY
Paper 11
Time Allowed : 1% Hours| [Maximum Marks : 100

Note :— This question paper contains fifty (50) questions with multiple choice

answers. Each question carries two (2) marks. Attempt all questions.
1. Who is the main champion of Synthetic Sociology ?
(A) F. Tonnies (B) Von Wiese

(C) Max Weber (D) A. Comte

2.  Emile Durkheim grouped the subject matter of sociology as social morphology,

Social Physiology and...........cccciiicerninnnn :
(A) General Sociology

(B) Formal Sociology

(C) Philosophical Sociology

(D) Fundamental Sociology
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3. “The objective of sociology is to unveil the hidden culture of society”, who said

this ?

(A) C.H. Cooley (B) Pierre Bourdieu

(C) Jacques Derrida (D) Alain Touraine
4. For community, Weber means ........ccccoimiinenannininnns 3

(A) Known each other
(B) Some commitment
(C) We feeling

(D) Territorial unit

-

5. William G. Summner identified two types of norms : Folk ways

gk i S
(A) Customs (B) Traditions
(C) Mores (D) Sanctions
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6. Who has given the concept of cultural construct ?

(A) R. Redfield

(B) Ralph Linton

(C) Milton Singer

(D) B. Malinowski

7. Unlike mores, customs are not :

(A) Evaluative

(B) Philosophical

(C) Imaginative

(D) Superficial

8. Who wrote ‘Structure and Function in Primitive Society’ ?

(A) T. Parsons (B) R.K. Merton

(C) B. Malinowski (D) Radcliffe Brown
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9. Which one is not the basis of achieved status ?
(A) Property (B) Education
(C) Political power (D) Kinship

10. According to Gaffman, some disdainful detachment from the role performance

18 CRIIEA o.cioiosiossmmvsassursssrsssne .
(A) role set

(B) role distance

(C) intra-role conflict

(D) role conflict

11. Social Group is distinguished from the category and aggregates on the

basis of :

(A) Number of people

(B) Cluster of people

(C) Pattern of interaction

(D) Voluntary membership
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;1 A i —— groups people lack organisation and structure and members

do not have much awareness about the existence of their group.

(A) Conflict (B) Partial
(C) Quasi (D) Formal

13. In Gesellschaft relationship are ..., .
(A) Sentimental

(B) Long duration
(C) Traditional

(D) Realistic

14. Limitations on marriage are put by :
(A) Incest taboo by
(B) Rules of endogamy and exogamy
(C) Both (A) and (B)

(D) Neither (A) nor (B)
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15. The family which one helps to set-up after ones marriage is called :
(A) Conjugal family
(B) Family of orientation
(C) Composite family
(D) Family of procreation
16. The primitive economy, thrived on incentives provided by a sense of :
(A) Sharing (B) Obligation
(C) Solidarity (D) All of these
17. Socialism does not mean :
(A) A challenge to capitalism
(B) A challenge to individuality
(C) An effort at collective good

(D) An impetus to spiritualism
T.B.C. : 14/15/ET—II 12
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18. G. H. Mead’s process of child development is related to :

(A) Looking glass self

(B) I and me

(C) Personality self

19 ssiievrsinies refers to a process which requires a dramatic shift in attitudes,

values, behaviours and expectations learned in the past.

(A) Anticipatory socialisation

(B) Reverse socialisation

(C) Re-socialisation

(D) Future socialisation

20. According to Mead, the part self-sensitive to social demand is :

(A} 1 (B) Ego

(C) Me (D) Super ego
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22.

............................... refers diversity between men and women, caste and class, city

and village ete.

(A) Social differentiation

(B) Social inequality

(C) Social stratification

(D) None of the above

Who regarded social stratification as a ‘functional necessity’ for all societies ?
(A) Karl Marx (B) Max Weber

(C) Davis and Moore (D) C.W. Mills

The term ‘life chances’ of an individual or class was explained by :
(A) Karl Marx (B) Max Weber

(C) T. Parsons - (D) R.K. Merton

John Rex argues that the apartheid system in South Africa was a

PP R cocosesvarproppnaae .
(A) Class system (B) Caste system
(C) (A) and (B) both (D) None of these
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DB, | leisirsisissnesiosavesknidan refer to the vertical movement of a specific group, class or

occupation relative to others in a stratification system.

(A) Intra-generational mobility

(B) Inter-generational mobility

(C) Structural mebility

(D) Horizontal mobility

- 26. Social change involve/involves ......cccccceciueeinnnns things.

(A) Point of departure of the object or situation under study

(B) Time span

(C) Difference observed (between, before and after situation) in respect of the

point of departure

(D) All of the above

27. Social change is .....ccccvvmiiniiianrieannes term
(A) Evaluative (B) Neutral
(C) Positive (D) Negative

T.B.C.; 14/15/ET—II 18
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28. Who propounded the theory of biological evolution ?
(A) J. Toynbee
(B) Charles Darwin

(C) O. Spengler

(D) V. Pareto

.- DRSPS viewed social change as a resolution of conflict over power.
(A) R. Dahrendorf (B) K. Marx
(C) G. Simmel (D) L. Coser

30. L. H. Morgan has talked about fixed stages of development i.e. savagery

barbarism t0: ... e cseissiinassines :
(A) Modern (B) Capitalism
(C) Civilisation (D) Industrial

31. Social structure, apart from the action system, includes :
(A) Norms
(B) Anticipated responses
(C) Sanction system

(D) All of the above
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32. Radcliffe Brown distinguished between the ... structure and general

structure of a society.
(A) Unrealistic (B) Core
(C) Actual (D) Permanent

33. Who held that social function refers to observable objective consequences and

not to subjective dispositions ?
(A) E. Durkheim

(B) Malinowski

(C) T. Parsons

(D) R.K. Merton

34. The functional prerequisities of the social system include :

-
'y

(A) Obedience to social norms
(B) Mechanisms of social control
(C) Interest toward positive action

(D) All of the above
T.B.C.: 14/15/ET—11 22
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356. Functionalism is concerned with........ccccivcirieeecenns Z

(A) Cultural borrowing

(B) Contributions of parts to the whole

(C) Social change

(D) Social problems

36. Value-rational action is alsa called ........................ a
(A) Affective action (B) Wertrational action
(C) Traditional action (D) Zweckrational action

37. According to Pareto, moralists who believe that humans are good and who act

on the basis of acting..........ccccevvvvvnnnns )

(A) Logically (B) Non-logically

(C) Neutrally (D) None of these

38. ‘Mind, Self and Society’ is written by :

(A) C. H. Cooley (B) William James

(C) G. H. Mead (D) H. Blumer

T.B.C. : 14/15/ET—I1 24
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40.

41.

42,

IR, cxoxs aexons o lisnin the fundamental contradiction of capitalism was dislocation

between productive forces and the social relations of production.
(A) K. Marx (B) Hegel
(C) M. Weber (D) G. Simmel

Which of the following is not regarded as the characteristic feature of scientific

method ?

(A) Reliability

(B) Validity

(C) Replicability

(D) Common sense cbservation

Which one of the feature is not correct in objective method ?

(A) Scientific analysis (B) Deductive in nature

(C) Verification (D) Subjective analysis

...................................... is a sense observation.

(A) Concept (B) Hypothesis

(C) Fact (D) Theory

T.B.C. : 1415/ET—II 26
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A8 dbiiLisRGENGG research can put theory to test.
(A) Applied (B) Practical
(C) Both (A) and (B) (D) None of these

44, A type of sample selected on the basis of geographic areas, is

KNOWIL B8..cveiecsnssssansssssssisis !
(A) Area sample

(B) Cluster sample

(C) Biased sample

(D) Quota sample

45. There are two ways of looking at probability as a scientific point out from the

following : 3
(A) Probable truth and mathematical
(B) Qualitative and imaginative

(C) Quantitative and unknown

(D) None of the above
TB.C.: 14/15/ET—I1 28
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46. W. Whyte used.......ccoivsereiesmraenins for his work in ‘Street Corner Society’.

(A) Questionnaire (B) Observation
(C) Depth interview (D) Content analysis
&7, RS compare two or more frequency distribution.
(A) Correlation (B) Central tendency
(C) Median (D) Standard deviation
48. A method of comparing values is .........iieniaein. -
(A) Range (B) Proportion
(C) Median (D} Mode
~ 49. Tippett table is used for the .......coemmeisiiinnn: sampling.
(A) random (B) stratified
(C) purposive | (D) quota

- 50. When the list of questions is filled by the researcher himself, it is called :
(A) Questionnaire

(B) Closed questionnaire

(C) Interview schedule

(D) Open questionnaire
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